

3 אפריל
 (9)

$\int \frac{x^3}{x^3 - 4x^2 + x - 4} dx = \int \left[1 + \frac{4x^2 - x + 4}{x^3 - 4x^2 + x - 4} \right] dx =$

$$\frac{x^3 - 4x^2 + x - 4}{x^3 - 4x^2} \cdot \frac{x - 4}{x - 4} = \frac{x^3 - 4x^2 + x - 4}{x^3 - 4x^2} \cdot \frac{x - 4}{x - 4}$$

$= \int dx + \frac{1}{17} \left[\int \frac{4x - 1}{x^2 + 1} dx + 64 \int \frac{dx}{x - 4} \right] =$

$$\frac{4x^2 - x + 4}{x^3 - 4x^2 + x - 4} = \frac{Ax + B}{x^2 + 1} + \frac{C}{x - 4}$$

$$= \frac{(A+C)x^2 + (B-4A)x + (C-4B)}{x^3 - 4x^2 + x - 4} \Rightarrow \begin{cases} A+C=4 & A=4/17 \\ B-4A=-1 & B=-1/17 \\ C-4B=4 & C=64/17 \end{cases}$$

$= x + \frac{64}{17} \ln|x-4| + \frac{2}{17} \int \frac{d(x^2+1)}{x^2+1} - \frac{1}{17} \int \frac{dx}{x^2+1} =$

$= x + \frac{64}{17} \ln|x-4| + \frac{2}{17} \ln(x^2+1) - \frac{1}{17} \arctan x + C$

$(x=e^{-t}, dx=-e^{-t}dt) \quad t = \ln \frac{1}{x}$

$I(p, q) = \int_0^{\infty} x^p \ln\left(\frac{1}{x}\right)^q dx = \int_0^{\infty} t^q e^{-(p+1)t} dt$

$p > -1: I(p, q) = \int_0^{\infty} t^q e^{-(p+1)t} dt = \frac{1}{(p+1)^{q+1}} \int_0^{\infty} u^q e^{-u} du$

$p = -1: I(-1, q) = \int_0^{\infty} t^q dt$

$p < -1: \int_0^{\infty} t^q e^{-(p+1)t} dt$
 $t^q e^{-(p+1)t} > 1: t > M$
 $\int_M^{\infty} t^q e^{-(p+1)t} dt > \int_M^{\infty} t^q dt \rightarrow \infty$

$\begin{cases} p > -1 \\ q > -1 \end{cases} \Rightarrow$